RMorEn v |
" s ISvad ™ ‘i‘..

wirs] R e 3
| _‘.‘ M :.I.
7% - v
i, RS X a ‘_ = 2 ‘
v nE Ty L =<

Kiontal Saima!
Ny \_|I\\_\,
ALY PIHCTOVRLMA
HR TR VINRTAND



01

bo

0¢

017

g

Service ¢ Assistenza * Dienstverlening * Serwis
Servis * Szerviz » CepBucHas cnyxb6a

Name « Nom = Nome » Naam «
Nazwa * Jméno » Nazov = Név »

Denumire « Isim » HaseaHue

Amrumbett

Nr. * No. « N° « Homep + C » Sz

236329 874249
207337 420870
872160 851363
867386 770482
870079 577972
726045 256128

09 0

)

Typ * Type * Tip * Tipus * Tipo *

Tun

100X200
140X200
160X200
180X200

000000000000

01 OIT 001 06 08 0

0e1

a

[

04T 09T 0S

081

061

R

y M8x40 y M8x19 y M8x13 9 M8x13x6.5 y 130x4747
- 32x 24x 24x 4x 4x
A©) Py - e 0|3
018
c 92x41x220] [ H M5x40x100 | [ 1 85x26 | [ J @20x3
‘/ 2 '/ 1x '/ 1x J 4x
0/ T
= _—% "
© e /Z°? o &\J}‘A




B Reall
Bz
MBx19
Bx
M8x13
8x
20x3
4x
M&>40x100
ﬁ 1x
M&x40x100
; 1x
-

W40

2/
5




(LR
Bx

MBx13
ax

130x4747
4%

[l

v,

M 5x40x100

.

o

&

M&x40x100

1%




= oo Y. [=T o X o X o o X
- = e 3 & & S < S = = 2 = 8-
& % % v 3 = < z = = 2
@ o -.1._ & = [ ==} @D pad
= = = I = @ 3 = = <
* X
0 o & W
] @ = =

=/
B
B4
12
L






